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is the crux of management.
(A) Cost control
(B) Cost analysis
(C) Cost ascgrtainmem
(D) None of the above

The total costs remain
constant over a relevant range of
output.

(A) Variable
(C) Fixed

(B) Semi-variable
(D) All of the above

Prime cost includes
(A) Direct materials
(B) Direct labour

(C) Direct expenses
(D) Al of the above

Quarterly consumption of material
2000 kg, cost of placing one order
Rs. 50, cost per unit Rs. 40, storage
and carrying cost 80% on average
inventory. Based on given information
______ order placed in one quarter
of the year.
(A) 2

(C) 4

(B) 1
(D) 3

The minimum stock of material
4000 kg. Maximum stock of raw material
16250 kg. Hence, the average stock
level of raw material is

(A) 10112kg (B) 10111 kg

(C) 10120 kg (D) 10125 kg

The abnormal idle time cost is directly
transferred to

(A) Costing Profit and Loss Account
(B) Costing Trading Accounting

(C) Costing Abnormal Account

(D) All of the above

10.

11.

12.

13.
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Production overhead cost of

Rs. 2,00,000 and total number of
machine hours are 40000. Therefore,
the machine hour rate is

(A) Rs.9 (B) Rs.10

(C) Rs.8 (D) Rs.5

Total Cost Rs. 1,00,000 and number
of units are 10000. Therefore, cost per
unit is

(A) Rs. 10
(C) Rs.8

(B) Rs.5
(D) Rs.9

is the difference between the
estimated sales and sales at BEP.
(A) Marginal Cost
(B) Contribution Margin
(C) Margin of Safety
(D) None of these

The number of hours required is 15000,
the available hours are 500. The
manpower required is

(A) 15 (B) 20

(C) 18 (D) 30

The standard material cost for actual
production is Rs. 5,493 and the actual
material cost is Rs. 5,100. Therefore,
the total material cost variance is

(A) Rs.393(A) (B) Rs. 390 (F)
(C) Rs.395(F) (D) Rs. 398 (A)

Quality Circles (QCs) were formalized in
(A) 1950 (B) 1960
(C) 1940 (D) 1970

The Buy-Back of Shares should be
or less than of Total
Paid-Up Capital and Free Reserves of
the Company.
(A) 25%
(C) 35%

(B) 30%
(D) 40%
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14.

185.

16.

17.

18.

The day on which share-based payment
plan is announced and accepted by

Employees is called Date.
(A) Cash (B) Grant
(C) Vesting (D) Credit

Underwriting (an issue of Shares or
Debentures) is a contract between a
Company and another party is called
(A) Underwriter

(B) Stamp writer

(C) Accounts writer

(D) All of these

The difference between Issued Share
Capital of the Transferee Company
and the Share Capital of the Transferor
Company should be treated as

Reserve, in the books of the Transferor

Company.
(A) Cash (B) Secret
(C) Capital (D) All of these

Where a Company is being wound up,
a Floating Charge on the undertaking
or property of the Company created
within months immediately
preceding the commencement of
winding-up shall be invalid.
(A) 12 (B) 11
(C) 15 (D) 10

Every Insurer should maintain an
excess of the value of its Assets over
the amount of its Liabilities, at all
times. This excess is called

Margin.

(A) Profit

(B) Solvency

(C) Safety

(D) All of these

19.

20.

21.

22.

23.
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Banking Companies incorporated in
India should transfer atleast 25% of
the profits as determined to
Reserve Funds, before declaring any
dividend.

(A) Under Section 39

(B) Under Section 49

(C) Under Section 29

(D) None of these

The Scheme of Mutual Fund for which
the period of maturity is specified at the
inception or opening of the Scheme
itself is called Scheme.

(A) Open-Ended

(B) Close-Ended

(C) Middle-Ended

(D) All of these

An enterprise that has one or more
Subsidiaries is called

(A) A Group

(B) A Subsidiary

(C) A Parent

(D) None of these

The amount of revenue agreed in a
Fixed Price Contract may increase as
a result of cost. It is called as

Clause.

(A) Average
(C) Penalty

(B) Escalation
(D) All of these

Asper Accounting Standard
Dividend from Investments in shares
should be recognized as revenue, when
the Owner’s right to receive payment is
established.
(A) 9

(C) 10

(B) 12
(D) None of these
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24,

25.

26.

27,

28.

29.

Accounting Standard applicable
to Goodwill on Amalgamation.
(A) 15 (B) 19
(C) 14 (D) All of these

The Revised Carrying Amount (after

recognizing Impairment Loss)

Rs. 306.26 Crores should be

amortized over the useful life of
years.

(A) 10

(C) 8

The original value of an asset is
Rs. 90,00,000, the residual value of the
asset is Rs. 00 and the life of the asset
is 10 years. The amount of depreciation
under the straight line method is

(A) Rs. 8,89,000

(B) Rs. 9,00,000

(C) Rs. 8,99,000

(D) None of the above

(B) 5
(D) None of these

The opening capital employed is
Rs. 30,000 and closing capital employed
is Rs. 50,000. Hence, the average
capital employed is

(A) Rs. 30,000 (B) Rs. 40,000
(C) Rs.25,000 (D) Allofthese

The Dividend per share is Rs. 1.567, the
normal rate of return is 12%, therefore,
the value per share is

(A) Rs. 13.06 (B) Rs. 12.06

(C) Rs.11.06 (D) Rs. 10.06

Accounting Standard states
that the fixed assets are acquired in
exchange for shares/securities in the
enterprise, it is recorded at the fair
value of the fixed asset or the securities
whichever is more clearly evident.

(A) 12 (B) 11
(C) 10 (D) 19

30.

31.

32.

33.

35.

36.
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Price is specified in the
option contract at which the underlying
asset may be purchased or sold by the
buyer or holder.
(A) Average
(C) Closed

(B) Super
(D) Strike

Standard Auditing 220 includes

(A) Inspection

(B) Monitoring

(C) Engagement Quality Control Reviews
(D) All of these

Fraud is an act by one or
more individuals among management.
(A) Intentional

(B) Unintentional

(C) Both (A) and (B)

(D) None of these

The word audit is derived from

word.

(A) French (B) Latin

(C) Greek (D) None of these
Section 139(1) state that Appointment
of auditor by

(A) Members

(B) Board of Directors
(C) Government
(D) All of these

Section 142 deals with

(A) Rights

(B) Remuneration of Auditors
(C) Appointment

(D) None of the above

Section 143 (5) defines the Duties of
Auditor of

(A) Government Company

(B) Branch

(C) Private

(D) Al of these
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37.

38.

39.

40.

41.

42.

43.

Section deals with the powers
of the Tribunal in course of winding up,
to assess damages against delinquent
officers. ;
(A) 350
(C) 360

(B) 340
(D) None of these

S.A. 220 Quality Control of Audit of
Statements.

(A) Financial (B) Costing

(C) Managerial (D) All of these

“Vouching means testing the truth of
items appearing in the books of original
entry”, this statement is quoted by

(A) Dicksee

(B) J. R. Batliboi

(C) De Paula

(D) Taylor and Perry

Section 218 Protection of

during Investigation.

(A) Employers (B) Directors

(C) Inspectors (D) None of these

Section 143 (2) deals with

(A) Duty to report on Principal Assertions

(B) Duty to report on True and Fair
View

(C) Duty to report on Specific Enquiries

(D) Duty to report on Additional Matters

Planning is the backbone of
the business and corporate planning.
(A) Accounting (B) Costing
(C) Financial (D) None of these

Primary Market where securities
are bought and sold for the first time.
(A) New (B) Old

(C) Rejected (D) All of these

45.

46.

47.

48.

49.

50.
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The Rating is an expression
of opinion of an Agency.

(A) Debit (B) Credit

(C) Ratio (D) None of these

phase is one in which the
succeeding highs exceed the preceding
highs and the successive lows are
higher than the preceding lows.
(A) Bull (B) Bear
(C) Lameduck (D) Stag

The Investment weightis 1.4, Investment
return is 11.58%, Borrowing weight is
—0.4 and Borrowing cost is 4%. Hence,
the Portfolio return is

(A) 10.61% (B) 14.61%

(C) 12.61% (D) 11.61%

The weight of investment is 1.4 and
investment risk is 11.49%. Therefore,
total portfolio risk is

(A) 16.09% (B) 15.06%

(C) 14.06% (D) None of these

The equity earnings is Rs. 296 crores,
the market value of equity is Rs. 1,850
crores. Therefore, cost of equity in
terms of

(A) 15% (B) 16%

(C) 14% (D) 17%

Bonds are term Debt Securities.
(A) Long (B) Medium

(C) Short (D) All of these

When customer orders to buy Futures in
one delivery month and sell in another
delivery month. This order is called

(A) Scale order

(B) Spread order

(C) Opening order

(D) Closing order
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e T, ) 39 R ) T T 2
(A) Thel 3R

(B) T HRY

(C) wRfriye et

(D) ifem smew
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Among 200 randomly selected people of
a town, 83 were vegetarians. Therefore,
the percentage of vegetarians among
the selected people is

(A) 51.5% (B) 41.5%

(C) 31.5% (D) None of these

For fresh policies, the agent gets 25%
commission and the total premium for
policies promoted by him during an year
is Rs. 4 lakhs. Therefore, total annual
commission is

(A) Rs. 95,000

(B) Rs. 98,000

(C) Rs. 1,00,000

(D) None of these

Total face value of the bill is Rs. 2,49,050.
If cash discount of 2% is allowed for
one month, therefore, the amount of
cash discount is

(A) Rs. 4,981 (B) Rs. 4,081
(C) Rs. 4,581 (D) Rs. 4,481
is a process which with the

help of accounting records produces
financial statements from the churning
of numerous transactions of the
business.

(A) Statistics
(C) Sociology

(B) Accounting
(D) All of these

isviewed as ameasurement
of the diminution in the value of the fixed
assets.
(A) Accounting
(B) Cost Accounting
(C) Depreciation
(D) None of these

56.

S7.

58.

59.

60.

61.

MKG-XXXI/TECHMA/T2/03

Liabilities + Stockholders’ Equity =
(A) Assets (B) Capital
(C) Liabilities (D) All of these

The Balance Sheet can be presented in
Horizontal presentation and
presentation.
(A) Diagonal
(C) Functional

(B) Vertical
(D) None of these

asset.
(B) Intangible
(D) All of these

Goodwill is an
(A) Notional
(C) Factious

day book is used for recording
sale of goods on credit.
(A) Purchases
(B) Sales Return
(C) Purchases Return
(D) Sales

A list of debit balances on one side and
credit balances on other side, the list so
prepared is called a

(A) Cash Account

(B) Bank Account

(C) Trial Balance

(D) All of these

The stock destroyed by fire is not
covered by Insurance the total loss will
be shown in the profit and loss account
on the side.

(A) Debit

(B) Credit

(C) Either

(D) None of these
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Fgfeese ®9 8 A T foreft R o 200 SRl
o ¥ 83 YRR ¥, o =3Ha e A |
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(A) 51.5% (B) 41.5%

(C) 31.5% (D) =99 T HIS TE

7¢ giferfer % fore weie @ 25% wHieH
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(B) %. 98,000

(C) %.1,00,000
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(C) %. 4,581 (D) %. 4,481
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(C) wasmE (D) Fasft
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(B) TFTE SREieh
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AT + TRToh- 4T i 3fId) =

(A) sfeat () Th
(C) =z (D) It
-1 (S ¥fie) =i afds wegfa 3R
wegfer o g foRen s Eea # |
(A) fereroi (B) JeR
(ORERI:ED (D) T & FIg e
NEERRED afe g |
(A) FaH  (B)
(C) weayHl (D) Fwedt
oo =t = 3o Shfee gat
a1t F fopht i e o e sman 2
(A) Tl
(B) ferht fid
(C) @i fed
(D) fosft
TS T Sfere e ST gu aue shfee soig
i g=ft 8, O o= Feaar ®
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(B) @
(GR-ESERT)
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ST 8 T §U 216 1 ST ST A A (R
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GGk} i o fe@m s |
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(B) shiee
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As per AS-2, cost of inventories should

include

(A) Cost of purchase

(B) Cost of conversion

(C) Other costs incurred to bring the
inventories

(D) All of these

A is an instrument in
writing containing an unconditional
order, signed by the maker, directing
a certain person to pay a certain sum
of money only to, or to the order of, a
certain person, or to the bearer of the
instrument.

(A) Cheque

(B) Promissory Note

(C) Bill of Exchange

(D) All of these

expenditure is an expenditure
intended to benefit future period.
(A) Capital (B) Revenue
(C) Deferred (D) All of these

A firm engaged in manufacturing
business prepares an additional account
is called Account.

(A) Trading

(B) Manufacturing

(C) Profit and Loss

(D) None of these

The del credere commission allowed
based on credit sales to the

(A) Consignor

(B) Broker

(C) Consignee

(D) Agent

67.

68.

69.

70.
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In joint venture, joint bank accounts is
used for recording transactions.
(A) Credit (B) Cash

(C) Paper (D) All of these

Mr. A sends to Mr. B Goods costing
Rs. 10,000 on consignment at a profit of
25%. Therefore, the invoice price is
(A) Rs. 11,500 (B) Rs. 12,000
(C) Rs.12,100 (D) Rs. 12,500

Manager is entitled to a commission of
5% of net profits after charging such
commission. Profits before charging
such commission but after charging
all other expenses are Rs. 21,000.
Therefore, Profits after charging
commission is

(A) Rs. 21,000
(C) Rs. 22,000

(B) Rs. 20,000
(D) Rs. 22,500

Mr. A takes a bill of three months
duration to the banker, which the latter
discounts at 6% p.a. The bill is drawn
for Rs. 10,000. Hence, the net amount
bill obtained by Mr. A

(A) Rs.10,000 (B) Rs. 10,500
(C) Rs. 9,850 (D) Rs. 11,000

The total sales of Rs. 23,000, the total

profit of Rs. 3,700. Hence, the average

percentage of profit on total sales is
%.

(A) 15

(C) 15.25

(B) 155
(D) 16.09

Under average due date, the total product
of amount and days is Rs. 35,450, the
total amount is Rs. 1,550 and base date
is January 5. Hence, the average due
date is

(A) January 25
(C) January 28

(B) January 26
(D) January 27
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T ITW H, TIF S @rat & ITIRT
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1 e BRI '

(A) % 11,500  (B) % 12,000

(C) %.12,100 (D) %. 12,500
e et AT T 5% o FHITH T FHeR
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(A) % 21,000 (B) % 20,000

(C) %.22,000 (D) %. 22,500

. @ S i wdia it srafe  foret S
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? | o= %. 10,000 o o7 S fomn
?, @ . w g wra e faer ofdr Enft

(A) % 10,000 (B) ¥. 10,500

(C) %.9,850 (D) %. 11,000

e folshl €. 23,000, FeT A %. 3,700 B,
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(A) 15 (B) 15.5

(C) 15.25 (D) 16.09
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e fga adfia @
(A) &t 25
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(B) &t 26
(D) SHa 27
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The cost price of the Furniture is
Rs. 7,320, the scrap value of the asset is
Rs. 480 and the estimated life is 6 years.
The amount of depreciation is

(A) Rs. 1,000 (B) Rs. 1,140

(C) Rs. 1,200 (D) Rs. 1,100

Under estimated contract, cash
received is Rs. 6,00,000, contract price
is Rs. 8,19,000 and the estimated profit
on the whole contract is Rs. 1,89,000.
Therefore, the amount of profits to the
date is

(A) Rs.1,38,462 (B) Rs. 1,35,400
(C) Rs.1,34,500 (D) Rs. 1,30,500

Under Insurance claim, the amount
of policy is Rs. 70,000, actual loss is
Rs. 16,000 and the total value of goods
insured is Rs. 80,000 (it is subject to
average clause). Therefore, claim is
(A) Rs. 12,000 (B) Rs. 14,000
(C) Rs. 13,000 (D) Rs. 13,500

The sequence 1, 3, 5,7, 9, ... is an
arithmetic progression where the first
term is 1 and the common difference is
(A) 3 (B) 1
(C) 2 (D) 4

Find the common ratio of the Geometric
Progression 6+60+600+6000............
(A) 8 (B) 9
(C) 7 (D) 10

If the value of a machine depreciated
5% annually and the present value is
Rs. 65,000. Therefore, the value of the
machine at the end of 51" year is

(A) Rs. 52,943 (B) Rs. 52,800
(C) Rs.52,700 (D) Rs. 52,745
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The inverse ratio of 4/3 is
(A) O (B) 1
(C) 2 (D) 3

Train A covers 144 kms in 1.2 hours and
train B takes 1.8 hours. Find the ratio of
their speed per hour.

(A) 1:2 B) 1:1

(C) 2:3 (D) 4:2

The ratio between two numbers is 6 : 7.
If the first number is 120, then the other
number is
(A) 120
(C) 130

(B) 110
(D) 140

A man earns Rs. 65 per week. How long
he must work to earn Rs. 780 ?

(A) 10 weeks (B) 11 weeks

(C) 12 weeks (D) 13 weeks

What is the percentage commission of
an agent who gets Rs. 200 for sale of
Rs. 5,000 ?
(A) 4%
(C) 3%

(B) 5%
(D) 2%

Find the invoice price if the listed price
is Rs. 2,500, when a trade discount of
10% is allowed.

(A) Rs. 2,200

(B) Rs. 2,250

(C) Rs. 2,300

(D) Rs. 2,400

A man borrowed Rs. 30,000 for 20 days.
If the rate of interest is 20% p.a. Hence,
the amount of interest is

(A) Rs.328.76 (B) Rs. 326.76
(C) Rs.325.76 (D) Rs. 324.76
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FTeR 3 AN gl ®. 7,320 §, e
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4 /3 1 SRR I &
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(C) 2 (D) 3
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What principal will amount to Rs. 1,352
in 2 years at 4% compound interest ?

(A) Rs. 1,200 (B) Rs. 1,150

(C) Rs. 1,250 (D) Rs. 1,300
refers to column headings.

(A) Caption

(B) Stub

(C) Body

(D) All of these

The mean marks of 100 students
were found to be 40. Later on it was
discovered that a score of 53 was
misread as 83. Therefore, the correct
mean value is
(A) 38

(C) 40

(B) 39.7
(D) None of these

The 7 workers wage (in Rs.) : 14,100,
14,150, 16,080, 17,120, 15,200,
16,160 and 17,400. Hence, the median
size of the value is
(A) Rs. 16,000
(C) Rs. 16,080

(B) Rs. 16,050
(D) All of these

Inamoderately asymmetrical distribution,
the mode and mean are 32.1 and
35.4 respectively. Hence, the median
value is
(A) 33
(C) 32

(B) 34.3
(D) 31

An aeroplane covers the four sides of a
square at speeds of 1,000, 2,000, 3,000
and 4,000 km. per hour respectively.
Hence, the average speed of the
plane is

(A) 2,500 km per hour

(B) 2,400 km per hour

(C) 2,300 km per hour

(D) 2,200 km per hour
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94.

95.
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The seven students were scored
Marks : 12, 15, 20, 28, 30, 40 and 50.
Hence, the value of Quartile Deviation is
(A) 12 (B) 13

(C) 15 (D) None of these

The Standard Deviation is 25, Arithmetic
Mean is 3,200. Hence, the Co-efficient
of Variation is
(A) 0.780
(C) 0.776

(B) 0.781
(D) 0.756

“Skewness refers to the asymmetry
or lack of symmetry in the shape of a
frequency distribution”. This statement
made by

(A) Morris Hamburg

(B) Croxton and Cowden

(C) Simpson and Katka

(D) Garrett

“A time series consists of statistical
data which are collected, recorded,
observed over successive increments”.
This statement made by

(A) Patterson

(B) Morris Hamburg

(C) Ya-Lun-Chou

(D) Levin and Rubin

AAS (Audit and Assurance and
Standards) lays down the
standards of audit in case of a joint
audit of an entity.
(A) AAS -10
(C) AAS -3t

(B) AAS-12
(D) All of these

AAS - 13 lays down standards on
concept of

(A) Materiality
(C) Control risk

(B) Detection risk
(D) Inherent risk
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An audit book is maintained
by the audit clerk.
(A) manual

(C) note

(B) schedule
(D) all of these

AS (Accounting Standard) — 6 dealing
with Accounting.

(A) Depreciation (B) Investment
(C) Cash (D) Book Debt

contains provisions for issue
of shares at a discount.
(A) Section - 80
(B) Section -79
(C) Section - 79A
(D) Section —79A(1)

The subject-matter of economics has
been divided into parts.
(A) Two

(B) Three

(C) Four

(D) None of these

The word ‘macro’ is derived from
word.

(A) French
(C) Latin

(B) Greek
(D) None of these

is a system of economic
organization featured by the private
ownership and the use for private profit
of man-made and nature-made capital.
(A) Liberalism (B) Socialism
(C) Capitalism (D) All of these

The Consumers’ demand for consumer
goods for their own satisfaction is called
—_demand,

(A) Elasticity (B) Direct

(C) Inelasticity (D) All of these
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The means want-satisfying
power of a commodity.

(A) Utility (B) Demand

(C) Process (D) Income

The concept of consumer surplus was
first formulated by
(A) Marshall

(C) Dupuit

(B) Giffen
(D) None of these

The law of demand indicates only
the direction of change in quantity
demanded in response to a change in
(A) Quantity (B) Demand

(C) Price (D) All of these

The Delphi technique is a opinion of
number of experts about

demand is first obtained.

(A) Future

(B) Present

(C) Past

(D) None of the above

checks exercise their influence
on the growth of population by bringing
down the birth rate.
(A) Positive (B) Preventive
(C) Active (D) All of these

cost is addition to the total
cost caused by producing one more unit
of output.
(A) Material
(C) Marginal

(B) Labour
(D) None of these

level of output shows the
minimum level of output required to be
sold if the firm will just be in no profit,
no loss position.
(A) Break-even
(C) Price-even

(B) Cost-even
(D) All of these
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(A) Hfeasx

(B) FdHH

(c) forma

(D) 3Iuliad | § 1S 7

(B) |
(D) 3

e S T H FHT AR TS
Y gfEg T 3191 wuTE Trer |
(A) TFTF (B) Fams
(C) wfry (D) & ot

AN 3918 il U I IFE &
ICUTE 3 SHIVT el ARTA | hl 718 SAferiar
AR |
(A) Tt
(C) Hra

(B) ™

(D) T & =S 7

eng'cm T fosht g omufera
3eUTE % A TR I ST & AfS I8 FH
Fom, F e fafa g @

(A) Sh-FH  (B) FRR-TH

(€) wgg-fa7 (D) ¥ =t
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112. The technique of linear programming

developed by

(A) Marshall

(B) Giffen

(C) Dupuit

(D) G. B. Dantzig
1 AR competition is said to prevail
when there is a large number of
producers who produce a homogeneous
product.
(A) Perfect
(C) Cut-throat

(B) Imperfect

(D) All of these

114. In monopoly, there is a

producer and seller of a product which

has no close substitutes.

(A) Two (B) Single

(C) Three (D) None of these

115. Under competition, products

are notidentical as in perfectcompetition,

but neither are they remote substitutes

as in monopoly.

(A) Monopolistic (B) Oligopoly

(C) Imperfect (D) None of these

116. is said to prevail when

there are a few firms or sellers in the

market producing or selling a product.

(A) Monopoly (B) Oligopoly

(C) Imperfect (D) All of these

117. 1AS (Intemational Accounting Standards)
is to prescribe the accounting

treatment for inventories.

(A) IAS-2 (B) 1AS-7

(C) IAS-1 (D) IAS-8
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118.

119.

120.

121.

122.

128.

124.
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defines the treatment
of Accounting policies, changes in
Accounting estimates and Errors.

(A) IAS-2 (B) IAS-8

(C) 1AS-10 (D) 1AS-7

IFRS (International Financial Reporting
Standards) is to specify;
the financial reporting of a share-based
payment transaction.

(A) IFRS-4 (B) IFRS-2

(C) IFRS-3 (D) IFRS-7

prescribes the accounting
treatment for income taxes and the tax

consequences.
(A) 1AS-12 (B) 1AS-11
(C) 1AS-10 (D) IAS-16

is to prescribe the treatment
disclosure of staff benefits.

(A) 1AS-18 (B) 1AS-17
(C) IAS-19 (D) IAS-20

deals with accounting and
reporting by retirement benefit plans.
(A) IAS-26 (B) IAS-27
(C) IAS-31 (D) IAS-32

deals with investments in
associates.
(A) IAS-38 (B) IAS-31
(C) 1AS-32 (D) IAS-28
1AS-32 deals with disclosures.

(A) Inventories

(B) Cash Flow Statements
(C) Financial Instruments
(D) Business Combinations
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112. Yiaes wnfi & qeies foraes g foesfem

FIMER?
(A) weia
(B) T

(C) gfe
(D) sfi. sft. gesfim

i =l A%a e ST I
GHEY ITET 1 ITE FAATA IATEH
<) T | ey B |
(A) TRl (B) s
(C) Fh (D) ¥ ot

THIYFR §, T 3Ic9E F1 TH

Icqresh 3R fshan Brar & o =g st
g Adf BT ® |

(A) & (B) THA

(C) = (D) 37 & g 7

sferafiran 3 sieta, qof sfeeifia
F TE IUE TF gHH TE B B, Al
TR 3 qTE 37 g0 fashed 3uetey
& B |
(A) THITUHR (B) 3ITeUTRersR
(C) o (D) T @ 1S 72

= At T T ST Sie ST
 ITqTE Y S I A= I FS E HH AT
forshen ey B |
(A) TFTRERR (B) ITedTfersR
(C) 3o (D) F=ft

SATUCH (AU HCTHA AF)
Fegatl & fore SR i = frafo

FATR |
(B) ITETTH-7

(A) STETTE-2
(C) 3MEUTE-1 (D) TEUTH-8

118.

119.

120.

121.

122.

123.

124.
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aﬂzgﬁﬁﬁqﬁaﬁqaﬁmm&wﬁaj
FATR |

(A) ¥EUEH-2  (B) IATKUTH-8
(C) 3MEuuE-10 (D) ATEUTHE-7

HEuHITEE (SFatsdty faefrr foaifdn
HH) IR ST YA e
1 faeita faifén = s s 2 |
(A) SATETHATNTH-4

(B) HATETHIRTH-2

(C) FTEUHNTH-3

(D) HTETHARTE-7

L 3 T qRoTHT S S
fsrar =1 Frafor a2 |
(A) TETE-12  (B) ATEUTH-11
(C) SMEUEH-10 (D) IASYTH-16
FHHATIET o AT 3l Tahe T
yfsear w1 FRafor s |
(A) TUEE-18 (B) SATEUWE-17
(C) TsuuE-19 (D) ATEUEE-20

__ Haigla e s o oarea
IR g gafia ® |

(A) HAEUEE-26 (B) ATEUCH-27
(C) ITEUEE-31 (D) 3IMEYTH-32

g Hufaal # faw @
gefea 2 |

(A) STETEH-38 (B) ATEUCH-31
(C) *suua-32 (D) *TEuud-28

AECE-32  H YR
Hefa R |

(A) g ,

(B) ke ware ferarfur

(C) Tarira et

(D) HRIEH TISH
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126.

127.

128.

129.

130.
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IAS-34 deals with

(A) Interim financial

(B) Earnings per share
(C) Impairment of assets
(D) Intangible

reporting.

IAS-41 deals with

(A) Investment property
(B) Financial instruments
(C) Agriculture

(D) Interest in joint venture

IAS-40 deals with

(A) Cash Flow Statements
(B) Construction Contract
(C) Income Taxes

(D) Investment Property

IAS-7 deals with

(A) Cash Flow Statements

(B) Inventories

(C) Construction Contracts

(D) Presentation of Financial
Statements

IAS-20 deals with

(A) Borrowing Costs
(B) Related Parties

(C) Government Grants
(D) Revenue

The Institute of Chartered Accountants
of India (ICAIl) has proposed a plan for
convergence with IFRS (International
Financial Reporting Standards) with
effect from

(A) 01-04-2011
(C) 01-04-2012

(B) 01-04-2013
(D) 01-04-2010

131.

132.

133.

134.

135.

136.
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deals with Provisions,
Contingent Liabilities and Contingent
Assets.

(A) IAS-26
(C) IAS-7

(B) 1AS-20
(D) I1AS-37

The Indian Contract Act, 1872 under
defines an agreement
enforceable by law is a contract.

(A) Section 2(h) (B) Section 2(e)
(C) Section 2(b) (D) Section 2(g)

The Indian Contract Act, 1872 under
Section 2(i) defines an agreement which
is enforceable by law at the option of
one or more of the parties thereto, but
not at the option of the other or others,

isa contract.
(A) Valid (B) Voidable
(C) Void (D) lliegal

The Indian Contract Act, 1872 under
Section 6(1) defines

(A) Revocation of Offer

(B) Rejection of Offer

(C) Non acceptance of Condition

(D) Death or insanity of Offeror

The Indian Contract Act, 1872 under
deals with revocation of
acceptances.
(A) Section 11
(C) Section 23

(B) Section 20
(D) Section 5

The Indian Contract Act, 1872 under
Section 25(2) defines

(A) Promise to compensate

(B) Promise to pay a time-barred debt
(C) Completed gifts

(D) Bailment
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Imsuea-34_ fofnawEfae
(A) Farm foim

(B) wfd IR o1

(C) anfew 6wy

(D) I

JTECH-41 Teifera &
(A) T gufa

(B) fasita arem

(C) Hf

(D) g ITM | &

FTSYTH-40 Taiferq ]
(A) Tl varg faaeoft
(B) Fmior sy

(C) 3T

(D) FEw =ty

JTSUCH-7 Hafed 8

(A) Tt vare faarft

(B) =l

(C) i srgsiy

(D) Tordiar foramfori i g

FTEunH-20 ¥ Heiftr 2
(A) 3YR I A

(B) &&Ig UH

(C) WRI geH

(D) TS

& 3R AT As FAFEey A

Sfoean (31785010, 3718, ) 3 378, . R0,

(e AR i Ruvedy) &

a1y AfETor ¥g FSE1 o wEar o,
T wuTE | T

(A) 01-04-2011 (B) 01-04-2013

(C) 01-04-2012 (D) 01-04-2010

131.

132.

133.

134.

135.
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_ YTauTEl, eR{Se Al iR
TR AT gafta @ |

(A) SEWEE-26 (B) IATEUCH-20
(C) 3MsuuE-7 (D) 3MSUTH-37

I Gferer Afefam, 1872t

Tg IRTYG e & T e 31 e
1S Tweitan € G ? |

(A) " 2(TE)  (B) uwI2(3)

(C) am2(shi) (D) amr2(sh)

W s sifefem, 1872 am 2 (37

TF GHEA S g e @ SO a1

iferes et & forepeq W I 310 vadH

&1, e gat 3 311 % foreheq we, wF
afeer |

(A) g (B) Y&

(C) = (D) ¥y

R aferer sifufaam, 1872 a6 (1)
afteifee =ear 2

(A) wEarE 1 e

(B) wara it sreftepfa

(C) ¥rd i srefiepfa

(D) RTEe it §eg I YN

Wit gfeer sifufaam, 18726
i & Fraa g wefa 2 |

(A) o7 11 (B) ©TT 20
(C) umr 23 (D) €/ 5

AT HiereT tfefam, 1872 i amr 25 (2)
=l giTid e @

(A) @fgfd F =1 ama

(B) foreft awa—sig 01 & A 1 arel
(C) i ITEW

(D) SHFd
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138.

139.

140.

141.

The Sale of Goods Act, 1930 came into
force on

(A) 1stday of July 1930

(B) 1stday of September 1930

(C) 1Stday of January 1930

(D) 31stday of December 1930

The Sale of Goods Act, 1930 under
Section 5(1) defines

(A) The immediate delivery of the
Goods

The immediate payment of the
price

The delivery or payment by
instalments

All of these

B)
(©)
(D)

The Sale of Goods Act, 1930 under
Section 45(1) defines

(A) Unpaid Seller

(B) Acceptance by Buyer

(C) Retain Possession

(D) Rights

The Indian Partnership Act, 1932 under
Section 5 states that Partnership arises

by the way of
(A) Statue (B) Parties
(C) Contract (D) Status

elasticity of demand measures
the responsiveness of demandto achange
in the real income of consumers.
(A) Price
(B) Cross-price
(C) Income
(D) Point

142.

143.

144,

145.

146.
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As per Companies Act, 2013, Section 464
defines the number of partners in firm
carrying a business should not be
exceeding ;

(A) 200 persons (B) 150 persons
(C) 100 persons (D) 300 persons

The Indian Partnership Act, 1932
under Section 44 deals with dissolution
by order of the court on

grounds.

(A) Partner’s insanity

(B) Permanent incapacity

(C) Misconduct of partner

(D) All of these

discrimination refers to the
practice of a seller of selling the same
product at different prices to different
buyers.
(A) Product
(C) Price

(B) Material
(D) All of these

The Companies Act, 2013 under Section
2(45) states that any company in which
not less than percentage
of the paid-up share capital is held by
the Central Government, or any State
Governments, or partly by the Central
Government and partly by one or more
State Governments.

(A) 51 (B) 49
(C) 55 (D) 66
defines Foreign Company,

under the Companies Act, 2013.
(A) Section 2(92)
(B) Section 2(42)
(C) Section 2(85)
(D) Section 2(62)




137. 1t fosea srfufaem, 1930 @] g
(A) 01SaTs 1930 1
(B) 01 fadsr 1930 =i
(C) 01SHa{t 1930 i
(D) 31w 1930+t

A fasea sfifem, 1930 i am 5(1)
gfeTiee ot 2

(A) | it T Seffart

(B) sHa &l dehiel A

(C) Torvat grur Sefiadt an o

(D) ¥ @t

138.

Tret forsrg arfafm, 1930 it amr 45(1)
gt e 2

(A) Fafie fagar

(B) el BRI TR

(C) hssll ST T@HT

(D) e

139.

Rt yriert sifafazm, 1932 amr 5
% IR, Sfier foree arems & Bt 2 7
(A) wfem (B) uet
(C) e (D) fearfa

R A SuERe Y arafas
3 ¥ gftgds it qm i garEsiierd S
AT # |

(A) Hed

(B) wid-7ea

(C) ™

(D) wEe

140.

141.
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et 3rferfREm, 20136 am 464 7 Fuifa
! & o SRER SweaTe B 8§ fiert i
e Y it 78 B =R |

(A) 200=afd@  (B) 150 =Ffaa

(C) 100=afd (D) 300 =fFd

yrdtg arftertt siferfam, 1932 it am 44,
% YR W I % ARV
31 foees © wefm 2 |

(A) WTFfIER = arTerds

(B) TRt q&HaT

(C) wrfiar =i =R

(D) TGt

VRV o ATy 31T - 3R GleRI
Tl TF Y I Tl AT FHiHal W
T F IIER AR |

(A) 3R (B) @t

(C) Fwa (D) T usft

ot Aferfam, 2013 it & 2(45) 7 Fat
e fras e, i wfowE
% e i gohaT T YSf FE TR AT
TG GLHR T HAIF 9 § g GHR 3
AT &9 A T 1 AT T TR g
qia ® |

(A) 51 (B) 49
(C) 55 (D) 66

Fet Stferfam, 2013 % SAaria

Tt st =t uftenfye sar 2 |

(A) HTT 2(92)

(B) HTT 2(42)

(C) T 2(85)

(D) T 2(62)
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147.
148.

149.

150.

1561.

The Companies Act, 2013 states that
the Charter of Company is its

(A) Articles of Association

(B) Prospectus

(C) Statement in Lieu of Prospectus
(D) Memorandum of Association

Section of Central Goods
and Service Tax Act, states the eligibility
and conditions for taking input tax
credit.
(A) 9
€) 7

(B) 16
(D) 10

The Negotiable Instruments Act, 1881
under defines “A negotiable
instrument means a promissory note,
bill of exchange or cheque payable
either to order or to bearer”.

(A) Section 13(1)

(B) Section 118(a)

(C) Section 118(b)

(D) Section 118(c)

A Negotiable Instrument may be
dishonoured in either ways.
(A) Three

(B) Two

(C) Four

(D) All of these

As per the Income Tax (IT) Act,
every assessee whose total income
exceeds the maximum exempt limit is
liable to pay the income tax.
(A) 1961 (B) 1962
(C) 1963 (D) 1964

152.

153.

154.

155.

156.

157.
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The Central Government has introduce
the Goods and Service Tax (GST) with
effect from

(A) 18tJanuary, 2016

(B) 18t July, 2017

(C) 1st'February, 2018

(D) 18t January, 2019

The Government of India proposed GST
rate on Services is

(A) 17% (B) 16%
(C) 18% (D) 19%
Article empowers the

President to constitute a joint forum
(Goods and Service Tax Council) of the
Centre and State.

(A) 269-A (B) 2486(A)
(C) 265 (D) 279-A
As per Section CGST (Central

Goods and Service Tax) Act, 2017,
defines the term ‘Agent’.

(A) 2(5) (B) 2(12)

(C) 2(17) (D) 92A

Under GST Act, the Input Service
Distributor GST payment due date is
(A) 20t day of the next month

(B) 18! day of the next month

(C) 13t day of the next month

(D) 10t day of the next month

Under GST Act, Section 15(2) which
could be added to Transaction values
like ?

(A) Packing

(B) Commission

(C) Interest or late fees

(D) All of these
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FUHT AT, 2013 & ITTER, HAH A
=TT & FHH

(A) TET % Iafay

(B) faawor-ux

(C) Taawur-uz % sigat § foaon

(D) TEUT & FIIIH

e g 3R T Afafem ) am
, $Y2 2o 3hfee o =Y arsrer 3

I7dT Rl S @ |

(A) 9

©) 7

e foraa sifafaaw, 1881 i

o ITIER, “TF T forad o1 31 3 0
a7 93, Tafama forer an smewr swar s
I 3F AH” |

(A) =TT 13(1)

(B) HTI 118(T)

(C) 9m 118(sf)

(D) amT 118(%)

Us YR forad o feamet ot Stical
q AR o s g @ |

(A)

(B8) @

(C) =W

(D) ¥ st

TR (TS ) AFEm & SER,
wee et foreeht et 1m 21fereas ge
it i & 21feres 2, ST 1 JraE FE
¥ Icaert B |
(A) 1961
(C) 1963

(B) 16
(D) 10

(B) 1962
(D) 1964

152.

153.

154.

155.

156.

157.
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&3 TR 3 T5] U Ha1 o (o) e
¥ Ay R @

(A) 13Ha’, 2016

(B) 1@, 2017

(C) 1%, 2018

(D) 1S=al, 2019

Tl T A TR shl STed Seae!
T g
(A) 17%

(C) 18% (D) 19%

AT eeufd # g 3R
TG & T 63 B (3] @ qa1
qRNe) % ST T AFR IATE |
(A) 269-T (B) 246(T)
(C) 265 (D) 279-T

Hisfread! (s oeg T e ) s,
2017 G/ USie YIeE I qieTfNa
FATR |
(A) 2(5)
(C) 2(17)

(B) 16%

(B) 2(12)
(D) 92¢

streedt stfafm % Ted, g2 gan faaw
Sfreedt sprar i frem fafyr 2
(A) 3T HEH T 20 ARG
(B) 3t HEH FI 18 ai@
(C) =7t wE it 13 a’i@
(D) 3FT HEH it 10 arE

St safefamm i am 15(2) % g fFa
T % Godi § SISl ST Fehal & 7

(A) AfeT

(B) wfvM

(C) a7 faeia Yok

(D) 3 &t
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160.
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162.

163.

The present Goods and Services Tax
Identification Number is

digits.
(A) 11 (B) 15
(C) 12 (D) 13

The first two digits of Goods and
Services Tax ldentification Number for
State Code of Karnataka is
(A) 29 (B) 26
(C) 30 (D) 31

The Customs Tariff Act (CTA) was
enacted by Parliament in

(A) 1975 (B) 1962

(C) 1961 (D) 1979

The Custom Act, 1962, Section 11 (2)
specified to prohibit import and exports
are
(A)
(B)
(©)

The prevention of smuggling

The establishment of any industry
The prevention of deceptive
practices

(D) All of these

Credit rating agencies in India, Debentures
rated ‘AAA’ are judged to offer

safety of timely payment of interest and
principal.

(A) Highest
(C) Moderate

(B) Adequate
(D) Inadequate

trading is considered as an
offence and is hence prohibited as per
the Securities and Exchange Board of
India (SEBI) Regulations, 1992.
(A) Cash (B) Insider
(C) Credit (D) None of these

164.

165.

166.

167.

168.
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back is done by the company
with the purpose to improve liquidity in
its shares and enhance the shareholders
wealth.
(A) Buy
(B) Stock
(C) Sold
(D) None of these

A is alegal document containing
an acknowledgement of indebtedness
by a company.

(A) Preference Share

(B) Debenture

(C) Equity Share

(D) Bonus Share

is defined as a rise in the
average level of prices for all goods and
services.
(A) Inflation
(B) Deflation
(C) Recession
(D) All of these

markets are markets for
short-term financial assets that are
close substitutes for money usually with
maturities of less than a year.

(A) Gold (B) Money
(C) Silver (D) Diamond

risk is the portion of an
asset’s variability that can be attributed
to a common factor.
(A) Systematic
(B) Unsystematic
(C) Specific
(D) None of these
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FAH | &g Td a1 L hH TEEH a1
IR FE

(A) 11

(C) 12

FA1eH T e Fl 95 U9 §a1 L 89
T % TR al 37 B

(A) 29 (B) 26

(C) 30 (D) 31

Har-yee ifufem (Hide) =t 59 g7
e o arfufrafia form man

(A) 1975 (B) 1962

(C) 1961 (D) 1979

ey afefem, 1962 i amr 11 (2) fora
TR o 31T 3R Fafa =t wfeefea =@
F g fafde? ?

(A) TEH i Tshamy

(B) Tereft oft e &t wemmaen

(C) wTHeh T i UshemH

(D) F&sft

i ¥ e Yo wSifed gw wow Avft
Tesier =1 =191 37N YEeH & @99 JAH &
forw_ gren vem e ¥ forw e
ST |

(A) J=dH
(C) Tegq

(B) 15
(D) 13

(B) waT=
(D) T

& A 9y g S @
3ii gafore 38 vt gfefa si fafm
a1E (Taft) farframe, 1992 % srgEm g
T mn® |
(A) g
(C) wfee

(B) Ag&AT
(D) T8 & =g e

164.

165.

166.

167.

168.
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TR & O 1 S 3T 379 T i
T § IR @ % 359 | F! T
e ERIESICIER

(A) &

(B) ®i%
(C) ﬁa\_?t
(D) 79 ® IS 78

_ uwfaRereamEs?, e fed
FU g1 SROnrEaT ) wierar el ® |
(A) ATt IR

(B) fesi=r

(C) 3fFrt IR

(D) =9 IR

1 ot Fegert ot daned
% foru Fimdl & oitwa T d gfg ¥ w o d
gftse fFrmn ® |
(A) garedifa
(B) ITawhifa
(C) udt
(D) F&sft

TSR SAeqehiferen fardta snfeaat
F TSR B 8, S SAHAR T TF I8 & FH
% gftgsaar 9 99 F fou Feh e

21
(A) G (B) T&r
(D) &

(C) =idt
Sifaw foreft anfe <t srfedran
=1 fewn @ran 2, S v o= wE W+
fore fonier et s o ® |
(A) gegafera
(B) F=afeq
(C) fafsre
(D) ¥ @ g &l
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An is a type of a contract
between two parties when one person
grants the other person the right to buy
a specific asset at a specific price within
a specific time period.

(A) Spread (B) Straddle

(C) Option (D) Exotic

price is the total price at
which an ordinary share is issued and
allotted to the debenture holder.
(A) Conversion
(B) Non-conversion
(C) Market
(D) Share

A is a right to buy a share of
a specified company at a certain price
during a given time period.

(A) Option (B) Warrant
(C) Spread (D) Straddle
A contract is an agreement

that requires a party to a agreement either
to sell or buy something at a designated
future date at a predetermined price.
(A) Option (B) Futures

(C) Calloption (D) Putoption

A is a position that is taken
as a temporary substitute for a later
position in another asset (or liability)
or to protect the value of an existing
position in an asset (or liability) until the
position can be liquidated.

(A) Hedging (B) Option

(C) Warrant (D) Swaps

174.

175.

176.

177.

178.
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derivatives are financial
contracts that allow market participants
to take positions on macroeconomic
data releases.
(A) Over The Counter (OTC)
(B) Forex
(C) Economic
(D) Financial

Global Depositary Receipts (GDR’s)
were introduced in late

(A) 1990 (B) 1993

(C) 1991 (D) 1992

budgeting is the process of
making investment decisions in capital
expenditures.

(A) Cash (B) Capital
(C) Sales (D) Profit
The flow statement is designed

to analyze the changes in the financial
condition of a business enterprise between

two periods.
(A) Funds (B) Cash
(C) Money (D) All of these

analysis is ‘the process of
identifying the financial strengths and
weaknesses of the firm by properly
establishing relationship between the
items of the balance sheet and the profit
and loss account’.
(A) Market
(B) Financial
(C) Price
(D) None of these




169.

170.

171,

172.

173.

-33-

3l &l % e UH TEHR H
e R, el T = ga S o
fafmse T % ek fafire goo v fafime
guft =l @ited &1 AftER A |
(A) BiE (B) wsA
(C) HT=H (D) TiIfeH

el 9% et 44 8, o ww
YR SRR ST foRa e @ ofi fesRr
T I e fohaT AT g |

(A) EITAT

(B) TR-FUTRul

(C) 9N

(D) ¥

s fifvaa gmamEty & S
foreft fafeer oo o fereft frfdee shueft =
IR @ie w1 AR R |
(A) IS (B) are
() = (D) &z

U et i ol a - fretfia gea w et
ffdse i i ot & o o= a1 @l
o fore wweitar st e @ |

(A) AT (B) wI=H

(C) ®iad AWH (D) I AT

Tz foufa 3, @ foeedft o
arfe (71 3an) § se i feufa & fag
et T & &9 1 a1 fopeft anfe (A
<) # HispE et & qeu A En wAE &
Tore foran stven 2, e aeh feufe s aftammom
7 frn s |
(A) 2w

(C) are

(B) AT
(D) w9

174.

175.

176.

177.

178.

MKG-XXXI/TECHMA/T2/03

R fadw smeg ea
&, ST TSR TesTRI ol AghIgahiATHe 2T
frefisr @ fefa o ft ermfa 3 2 |

(A) STIER g F13eT (3.2 .H)

(B) foreft mam

(C) =i

(D) forfim

otae fegifsed fifteew (GDR's)
T3 el 1 TS 2
(A) 1990
(C) 1991

(B) 1993
(D) 1992

Feie Isft = | e foig
AR ufER |
(A) =g
(C) femht

(B) dsft

(D) ©m™

_ yare foerft @ @ sEftEt
st s s 35w i el feafy
T qfad w1 ferveraor s o fora S faman
TR |

(A) ffu
(C) &+

(B) 7Fa
(D) ¥ asft

forgetaon, ‘qem = SR E T
B @ 1 7et & s 3t gey warfiq
Fh w4 6t o wifeeal ofi sasift
F I FE A AFI R |

(A) STSIR

(B) faxfim

(C) Fiua

(D) T § Ig TE




179.

180.

181.

182.

183.

184.

ratios which measure the
short-term solvency or financial position
of a firm.
(A) Activity
(C) Liquidity

(B) Current
(D) Operating

costs are the costs which
can be conveniently identified with and
allocated to a particular unit of final

product.
(A) Direct (B) Indirect
(C) Factory (D) All of these

is the difference between
sales and variable cost or marginal cost
of sales.
(A) Sales
(B) Contribution
(C) Profit-volume ratio
(D) None of these

A budget is that part of the
organization for which the budget is
prepared.

(A) Manual
(C) Centre

(B) Period
(D) Committee

Business forecasting is an act of
predicting the future conditions
on the basis of past and present
information.

(A) Economic
(C) Financial

(B) Social
(D) All of these

A letter of credit is an undertaking by a
to honour the obligations of

its customer upto a specified amount,

should the customer fail to do so.

(A) Company (B) Bank

(C) Society (D) None of these
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A is an operator who
expects a rise in prices of securities in
the future.
(A) Bull
(C) Stag

(B) Bear
(D) Lame Duck

When two or more concerns dealing in
same product or service join together,
it is known as a merger.
(A) Vertical

(B) Horizontal

(C) Conglomerate

(D) All of these

environment is the immediate
environment with which the Firm
operates.
(A) Micro
(C) Business

(B) Macro
(D) None of these

The focus of Six Sigma is on
(A) Customer (B) Supplier
(C) Shareholders (D) Government

The strategy is adopted
during recession (decline) period and
other crisis situations.

(A) Retrenchment or Retreat

(B) Stability

(C) Expansion or Growth

(D) None of these

When strategic managementis ineffective
and operational management s efficient,
organization will
(A) Thrive

(C) Die slowly

(B) Survive
(D) Die quickly
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Under TQM (Total Quality Management),
is recognized as a
measurable commodity.

(A) Quality

(B) Quantity

(C) Cost

(D) All of these

Which of the following competitive
positions of a firm is not as per ADL
(Activities of Daily Living) Matrix ?
(A) Dominant (B) Favourable
(C) Difficult (D) Tenable

In Michael Porter's Generic
emphasizes producing standardized
products at a very low per unit-cost for
consumers who are price-sensitive.

(A) Cheap leadership

(B) Inferior product leadership
(C) Cost leadership

(D) Cost benefit

A Core Competence is identified by the
(A) Leverage Test

(B) Value Enhancement Test

(C) Imitability Test

(D) All of these

BPR stands for

(A) Business Practices Reinstatement
(B) Business Process Removal

(C) Better Process Reaffirmation

(D) Business Process Re-engineering
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The opening capital employed in the
company Rs. 30,00,000 and the closing
capital employed Rs. 31,50,000. Therefore,
the average capital employed is

(A) Rs. 30,75,000

(B) Rs. 30,50,000

(C) Rs. 30,25,000

(D) Rs. 30,30,000

The profits of five years Rs. 85,000,
Rs. 96,000, Rs. 90,000, Rs. 1,00,000
and Rs. 95,000. Hence, the future
maintainable profit is

(A) Rs.91,000 (B) Rs. 93,200
(C) Rs. 92,500 (D) Rs. 91,500

The value of business is Rs.18,40,000,
total number of shares outstanding
is 10,000. Hence, the value of equity
shares

(A) Rs. 184

(C) Rs. 182

(B) Rs. 180
(D) Rs. 181

The super profits of the company is
Rs. 1,80,000, the number of years of
purchase is 5 years. Hence, the value of
goodwill under the super profit method is
(A) Rs.9,00,000 (B) Rs. 8,90,000
(C) Rs. 8,75,000 (D) Rs. 8,95,000

The capital employed Rs. 1,20,00,000
and the weighted average cost of capital
is 10%. Therefore, the cost of capital is
(A) Rs. 11,80,000
(B) Rs. 12,00,000
(C) Rs. 11,50,000
(D) Rs. 11,60,000
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IMPORTANT INSTRUCTIONS TO CANDIDATES

sofieari & fore wewagut srew

This booklet contains 40 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask the
Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle should
be shaded completely without leaving any space.
The correct method of shading is given below.

Wrong Method || Wrong Method [|Wrong Method [[Correct Method
0¥ ©00|0e00

O®0O0O e]e] (6]

The Candidate must mark his/her response
after careful consideration.

There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If you
blacken (@) more than one circle against any one
question, the answer will be treated as wrong.
If you wish to cancel any answer, you should
completely erase that black mark in the circle in
the Answer-Sheet, and then blacken the circle
of revised response.

A machine will read the coded information in the
OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for rough work given in the Question
Booklet only and not on the Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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